GR1 U1 L5 T1 Strategy Chart


Addition and Subtraction Strategy Chart

	Count On
	6+2=86, 7, 8





Start at 6, then continue counting 7, 8. 

	
Facts with Zero

Additive Identity Property of 0

Subtracting 0, the whole remains the same.
	5+0=5
Add 0 cookies to your plate 
[image: http://www.fansshare.com/images/chocolatechipcookie/would-you-consider-starscream-feminine-chocolate-chip-cookie-clipart-1243302910.jpg][image: http://www.fansshare.com/images/chocolatechipcookie/would-you-consider-starscream-feminine-chocolate-chip-cookie-clipart-1243302910.jpg]and you still have 5 cookies.
[image: http://www.fansshare.com/images/chocolatechipcookie/would-you-consider-starscream-feminine-chocolate-chip-cookie-clipart-1243302910.jpg]
[image: http://www.fansshare.com/images/chocolatechipcookie/would-you-consider-starscream-feminine-chocolate-chip-cookie-clipart-1243302910.jpg]
[image: http://www.fansshare.com/images/chocolatechipcookie/would-you-consider-starscream-feminine-chocolate-chip-cookie-clipart-1243302910.jpg]5-0=5 
Subtract 0 cookies from your 
plate and you still have 5 cookies.


	
Related Facts

Commutative Property for Addition

Related Subtraction Facts

	
5+4=9                             9-5=4

4+5=9                             9-4=5



	
Compensation
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3+10=13
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Doubles

	
4 + 4 = 8                3 + 3 = 6
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Near Doubles

	
6+7=13

6+6+1=13    or    7+7-1=13


	
Decomposing

Using the 5 Structure

	6 + 8 =
5 + 1                  5 + 3

5 + 5 = 10                                         1 + 3 = 4

10 + 4 = 14


	Decomposing

Using the 10 Structure

Making tens
(teen numbers)
	
8 + 5 =13

              8+2=10     10+3=13

	Three Addends

Associative Property
(choosing a friendly order)
	7 + 6 + 3 = 16


(7+3)+6= 16                (3+6)+7= 16








Unit 6 Strategies
	Leaps of Ten

	33+29=62
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	( 33  +  10  +  10  +  9 ) = 62

                +10              +10              +9

[bookmark: _GoBack]         33            43            53         62        		

	Benchmark
Numbers
	33+29=62

      30-1=29

33+30 = 63 -1 = 62
	58-19=39

                   19+1=20

58-20 = 38 +1 = 39 

	
Decomposing 

Using Place Value

	
33  +  29 =62
           
             30   +   3  +  20   +  9
             
             30   +   20  +  9   +  3   = 62

                    
                            +20                      +9           +3

      30                              50             59     62
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